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SICKNESS AND CLOSING A BUSINESS

Time Allotted : 3 Hours Full Marks : 70

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

GROUP - A
( Multiple Choice Type Questions )

1. Choose the correct alternatives for the following :
10x 1 =10
i) An yardstick to measure sickness in Small Industries
a) delay in repayment of institutional loan over one
year
b) decline in net worth by 10%
c) delay in payment to creditors
d) none of these.

ii) The criteria adapted to identify sick units in the third
census

a) continuous decline in gross output in the current
financial year

b) delay in repayment of loan by three months

c) continuous decline in gross output compared to
the previous two financial years

d) none of these.
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iii) What is the full form of NPA ? v

a) Non-posting assets = L

b) Non-performing assets
c) Non presentation assets
d) None of these.
iv) The Nayak committee was set up by RBI to deal with
a) aspects of adequacy & timeliness of credit to SSIs
b) aspects of adequacy & timeliness of debit to SSIs
c) aspects of inadequacy & timeliness of credit to SSIs
d) none of these.
v)  External factor causing sickness
a) cheaper variety of products available in the market
b) shortage in the supply of vital inputs
c) rise in the cost of raw material
d) all of these.
vi) Endogenous factor causing sickness
a) high productivity b) low productivity
c) medium productivity d) none of these.
vii) Symptom of sickness can be
a) lack of coordination with various agencies
b) increase in the level of inventories
c) undue delay in project implementation
d) all of these.
viii) Full form of BIFR is
a) Bureau of Indian Federal Republic
b) Bureau of Industrial & Financial Reconstruction
c) Board of Industrial & Future Reconstruction

d) None of these.
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ix) Full form of GATT is

a) General Agreement on Trade & Test~—
b) General Agreement on Trade & Tariff
c) General Awareness on Trade & Tariff
d) None of these.
X) Full form of WTO is
a) World Transport Organisation
b)  World Tourism Organisation
c) World Trade Organisation

d) None of these.

GROUP - B
( Short Answer Type Questions )
Answer any three of the following. 3x5=15

2. What is the present status of sickness of Small Scale

Industries in India ?

3. Give the highlights of third all India census on the sickness

in Small Scale Industries.

4. What are the endogenous factors that can cause sickness in

Small Scale Industries.

5. How can an unfavourable work culture can cause sickness to

a Small Scale Industries ?

6. Discuss the impact of New Economic Policy Reforms on

sickness in Small Scale Industries in India.
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GROUP - C v

(Long Answer Type Questions ). e
Answer any three of the following. 3% 15= 45

How can improper financial management cause sickness in
Indian Small Scale Industries ? What are the marketing
constraints that causes sickness in Small Scale Industries in

India ? 8+7

Discuss the internal causes of sickness. How can improper
administrative management cause sickness in Small Scale

Industries in India ? 7+ 8

How can Ratio analysis help in identifying sickness in Small
Scale Industries ? What are the limitations of Ratio

analysis ? 7+ 8

What are the main recommendations of the Nayak committee
to deal with the aspects of adequacy of credit ? Discuss the
guidelines issued by the Reserve Bank of India to remove

sickness in Small Scale Industries. 7+ 8

Discuss the causes of sickness of Small Scale Industrial
units in the Sangli District. What can be the plans for revival

of these units ? 7+ 8
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